AN

YAMAHA G14, G16, G19

HARDWARE
- . HEX BOLT 3/8-3 7
HEX BOLT 3/8-2 1/4 4
\ HEX BOLT 3/8-2 4
OTCHED A-ARM RISER s HEX BOLT 3/8-1 3/4 4
h [ . d HEXBOLT3/8-31/2 4
\‘ HEX BOLT 7/16-1 1/4 2
\ M q LOCK NUT 3/8 23
- BACKING CLAMP FLAT WASHER 3/8 46
: . sowTsioncasR LOCK NUT 7/16 2
-% FLAT WASHER 7/16 4
V FRONT INSTALLATION
‘ 1. Jack the cart up as high as possible and place jack stands to support the cart.
\ Remove tires and front bumper. Remove the top shock bolts and move the shocks over and out
of the way.
K 3. Remove the A-arm mounting bolts and lower the A-arms.
Place the shock riser on the cart and measure 3-1/2" down from the top of the top shock mount
‘ and drill a 25/64" hole in the center. Do not drill the second shock riser hole at this time.
5. Install the shock riser using one bolt and one backing clamp.
h Install the rear A-arm riser with notch at top along with the rear front riser (no notch). Also,
install the spacers on the inside of the cart channel. Leave the bolts loose. Install the front rear
k riser (with the notch to the top).
‘ 7. Install the front riser and leave the bolts loose.
\ 8. Install both A-arms and tighten all the bolts at this time.
9. Install the shock into the shock riser and tighten the bolts.
\ 10. Install the tires and lower to the floor and check the front end alignment and adjust if necessary.
11. After the alignment is set, drill the second shock riser hole and install the backing clamp and bolt.
\ / WWW.STEELENGGOLFCART.COM

LIFT KIT INSTALLATION INSTRUCTIONS

PARTS

NOTCHED A-ARM RISER
A-ARM RISER
REAR STABILIZER PLATE
REAR SHOCK RISER
BACKING CLAMP
FRONT SHOCK RISER
SPACERS

N N B NMNE NN

N \ N N

aarm riser

NG N

£

£

R

£

X
"
5
i
B
|
~
%



N

LIFT KIT INSTALLATION INSTRUCTIONS
YAMAHA G14, G16, G19

AR o o A
£

w

REAR INSTALLATION .

1. Jack up the rear as high as possible and place jack stands to support the cart. ‘l

N 2. Place a floor jack under the drive unit and remove the top shock bolts. *

3. Remove the stabilizer bolt (driver side). J

‘ 4. Lower the drive unit until the shock risers will fit and install the bolts. 1

k 5. Install the stabilizer plate and drill the plate hole and install the bolts. Y

K 6. Tighten all nuts and bolts. "

b N
)

“ X

N .
o

W .

N 3

) *

/

rear shockisSr rear stabilizer plate ‘/

"

N / WWW.STEELENGGOLFCART.COM / ‘

'3

BN N N NN N AR AN



